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Name SEPLAT JV Undergraduate Scholarship Screening Test 2019/2020

Questions 30 (number of questions)
Time Limit 45 (minutes)
Start Test

You can start taking this test by pressing the Start this Test button.

Additional Information | Read Carefully.

« Test taker will need to make sure all popup blocker are disabled on their computer and some test takers may have more
than one popup blocker that would require being disabled. iPads, iPhones and other smart phones will require disabling
popup blocking under thelr settings and preferences menus

« There are 30 questions In total and you are to answer all.

« Time allotted for the test is 45 minutes

« You can stop the test during the period and come back later to complete it. You can only do this once.

« Once you log back on to continue, the time continues from where it stopped

« Qualification for the final screening exercise is subject to the SEPLAT JV Scholarship Scheme Terms and Conditions.

Start this Test m
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Name SEPLAT JV Undergraduate Scholarship Screening Test 2019/2020

Timer Time Remaining (minutes:seconds) : 44:11

Progress

You have completed 0 out of 30 questions.

Instruct

Question

Use the Submit -> Forward button to save your answer and move to the next question

Calculator

1) A secondary sector product would include all of the following except
A) acar
B) e Aacardealer
C) a computer

D) a plain notebook

Stop and Restart/Resume Lat:
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Use the Submit -> Forward button to save your answer and move to the next question.

2) Which of the following could be described as not being in the tertiary sector?

A) solicitor

B) @ Wwindow cleaner

C) cabinet marker
D) plumber
® © Tl .l () 8:28 PM
e S AT R TR e A AT I G AT ST oo

Timer Time Remaining (minutes:seconds) : 43:33

Progress

You have completed 2 out of 30 questions
Instructions

Question

Use the Submit -> Forward button to save your answer and move to the next question

Calculator

3) Y has been believed to cause Z. A new report, noting that Y and Z are often observed to be preceded by X, suggests
that X, not Y, may be the cause of Z. Which of the following further observations would best support the new report's
suggestion?

A) In case where X occurs but Y does not X is usually followed by Z
B) In cases where X occurs, followed by Y, Y is usually followed by Z
C) In cases where Y occurs but Z does not, Y is usually preceded by X

D) In cases where Y occurs but Z does not, Y is usually preceded by X

Submit -> Forward
Stop and Restart/Resume Later
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Instructions

Question
Use the Submit -> Forward button to save your answer and move to the next question

Calculator

4) To entice away from F s, Konga sup kets have begun offi on home
to customers who spend N50 or more on any shopping trip to Konga. Konga executives claim that the discount
program has been a huge success, since cash register receipts of M50 or more are up thirty percent since the

b of the prog Which of the following, if true, most seriously weakens the claim of the company's
executives?
A) Most people who switched to Konga after the programme began to spend more than

M50 each time they shop at Konga

B) Most people whose average grocery bill is less than 850 would not be persuaded to
spend mare by any discount programme.

C) Most people who received discounts on home appliances through Konga programme will
shop at Konga after the programme ends

D) Almost all of the people who have begun spending 850 or more at Konga since the
discount programme began are longtime customers who have increased the average

amount of their shopping bills by making fewer trips.

Stop and Restart/Resume Later
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Question
Use the Submit -> Forward button to save your answer and move to the next question

Calculator

5) Statement of a South African copper mining company’s import quotas should be on the less exp
copper mined outside the country to maintain the price of copper in the country; otherwise, South African companies
will not be able to stay in business. Response of a South African copper and wire manufacturer: South African wire and
cable purchased about 70 percent of the copper mined In the United States. If the copper prices we pay are not at the
international level, our sales will drop, and then the demand for South African copper wlll go down. If the factual
information ps d by both is the best of the logical relationship between the two
arguments |s that the wire manufacturer's argument Is self-serving and irrelevant to the proposal of the mining
company

A)

B) Is circular, presupposing what it seeks to prove about the proposal of the mining
company.

C) shows that the proposal of the mining company would have a negative effect on the
mining company’s own business

D) Falls 1o give a reason why the proposal of the mining company should not be put into
effect to alleviate the concern of the mining company for staying in business

Submit -> Forward
op and Restart/Resume Later
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Instructions

Use the

Submit -> Farward button to save your answer and move to the next question

7) Roberts is told by his line manager that his work is not up to standard and that he must enroll on a specific course.
Which of the following Issues Is the manager dealing with

A) e Training

B) Grievance
C) Promotion
D) Demotion
N\ 42 &
©®A ® © Tl il (W 8:35 PM
Timer Time Remaining (minutes:seconds) : 36:19

Progress

You have completed 8 out of 30 questions
Instructions

Question

Use the Submit -> Forward button to save your answer and move to the next question

Calculator

9) The ofa gnizes the Importance of employee co-operation and participation In running the
firm. Which of the g Is particip hniq
A) Issuing a statement of intent
B) Circulating management decision
C) Team meetings
D) A management directive

Stop and Restart/Resume La!
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Timer Time Remaining (minutes:seconds) : 34:51

Progress
You have completed 9 out of 30 questions

Use the Submit -> Forward button to save your answer and move to the next question

10) Which of the g hods would an use to find out the strengths and weaknesses of employees as
well as what needs the employ may have
A) Induction
B) Selection interview
C) Appraisal interview
D) Outplacement interview

Stop and Restart/Resume Later
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QUeson
Use the Submit -> Forward button to save your answer and move to the next question.

11)  8,24,12,36,18,54,?

A e 27
B) 68
c) 72

D) 108
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Name SEPLAT JV Undergraduate Scholarship Screening Test 2019/2020
Timer Time Remaining (minutes:seconds) : 33:03

Progress

You have completed 11 out of 30 questions.
Instructions

Question
Use the Submit -> Forward button to save your answer and move to the next question

Calculator

12) 12, 25, 53,111,229, ?

A) 647
B) 746
c) 467
D) 764

and Restart/Resume La
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Name SEPLAT JV Undergraduate Scholarship Screening Test 2019/2020
Timer Time Remaining (minutes:seconds) : 30:06

Progress

You have completed 12 out of 30 questions.
Instructions

Question
Use the Submit -> Forward button to save your answer and move to the next question

Calculat

13)  8,4,12,2,18

A) 6
B) 8
C) 9
D) 15

Submit -> Forward
Stop and Restart/Resume La!
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You are taking the following test

Name SEPLAT JV Undergraduate Scholarship Screening Test 2019/2020

Timer Time Remaining (minutes:s

ds) : 29:19

Progress

You have completed 13 out of 30 questions

Use the Submit -> Forward button to save your answer and move to the next question

14)  13,14,12,15,11,16,10,7

A) n
B) 10
C) 17
D) 18
OR @ © %l .l (EE 8:45 PM

O @ mytestcom.net/app/myTakeatestLaunchForm.cfm

Proaress
Progre

You have completed 15 out of 30 questions.

Instruction
Instruction

Question

Use the Submit -> Forward button to save your answer and move to the next question

16) Colubrine : Snakes

A) ° Lupine : Wolf
B) Pangurian : Porcupine
C) Psittacine : Parrots

D) Ophiolatry : Snake
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Name SEPLAT JV Undergraduate Scholarship Screening Test 2019/2020

Timer Time Remaining (minutes:seconds) : 25:56

Prog

You have completed 16 out of 30 questions.
Instructions

Question

Use the Submit -> Forward button to save your answer and move to the next question

17) Ammendment : Legislature

A) President : Executive
B) Minister : Meeting
C) Judge : Court

D) People : Election

Stop and Restart/Resume Later
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You are taking the following 1est

Name SEPLAT JV Undergraduate Scholarship Screening Test 2019/2020

Timer Time Remalning (minutes:seconds) : 24:21

sctions

Use the Submit -> Forward button to save your answer and move to the next question

Calcuiator

18) The Indian economy is now
A) looking to
B) e looking up
C) looking after

D) locking on

Stop and Restart/Resume Later
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Name SEPLAT JV Undergraduate Scholarship Screening Test 2019/2020

Timer Time Remaining (minutes:seconds) : 23:31

Prog

You have completed 18 out of 30 questions.
Instructions

Question

Use the Submit -> Forward button to save your answer and move to the next question

19) The problem is who will this child.
A) bring in
B) bring out

C) e bringup

D) bring forth

Stop and Restart/Resume Later
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You are taking the following test
Name SEPLAT JV Undergraduate Scholarship Screening Test 2019/2020
Timer Time Remaining (minutes:seconds) : 22:22

Progress
You have completed 19 out of 30 questions.

Instructions

Question

Use the Submit -> Forward button to save your answer and move to the next question

Calculator

20) The eagle is aPrey
A) looking over
B) looking into

C) @ looking for

D) looking out for

Submit -> F d
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Progress

You have completed 21 out of 30 questions
Instructions

Question

Use the Submit -> Forward button to save your answer and move to the next question

Calculator

22) A Qg tik can chop 36 carrots in 4 minutes. How many carrots can 6 standard Veggiematik
machines chop In 6 minutes?

A) 36
B) e M
C) 108
D) 216
E) 324

rt/Resume Later
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Progress

You have completed 22 out of 30 questions

Instructions

Qu n

Use the Submit -> Forward button to save your answer and move to the next question

23) Sam Is training for the marathon. He drove 12 miles from his home to the Grey Hills Park and then ran 6 miles to Red
Rock, retraced his path back for 2 miles, and then ran 3 miles to Rock Creek. If he is then n miles from home, what is
the range of possible values for n?

A) T<n<23
B) 3<n<2]
C) 5<n<19
D) ben<18

E) e 9<n<i5

Submit —> Forward
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You are taking the following test

Name SEPLAT JV Undergraduate Scholarship Screening Test 2019/2020
Timer Time Remaining (minutes:seconds) : 11:41
Progress

You have completed 23 out of 30 questions.
Instructions

Question

Use the Submit -> Forward button to save your answer and move to the next question

Calculator

24) f the selling price of a mat Is five times the discount offered and If the percentage of discount is equal to the
percentage profit, find the ratio of the discount offered to the cost price.

A) 11:30
B) 1:5
) 1:6
D) 7:30

Stop and Restart/Resume Later
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Question
Use the Submit -> Forward button to save your answer and move to the next question

25) On sports day, If 30 children were made to stand In columns, then 16 columns could be formed. If 24 children were
made to stand in columns, then how many columns could be formed?

A) 20
B) 22
C) 29
D) 45

and Restart/Resume Later
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Name SEPLAT JV Undergraduate Scholarship Screening Test 2019/2020
Timer Time Remaining (minutes:seconds) : 5:20
Progres
You have completed 25 out of 30 questions
Ir
Question
Use the Submit -> Forward button to save your answer and move to the next question
26) A sum of money at p d interest to $800 In 3 years and to N840 In 4 years. The rate of interest
per annum Is:
A) 2%%
B) 4%
C) 5%
D) 6
©Ba ® @ ful .l (E 9:07 PM
.
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Timer Time Remaining (minutes:seconds) : 3:43

Progre

You have completed 26 out of 30 questions

Question

Use the Submit -> Forward button to save your answer and move to the next question

27) A house worth #150,000 is old by X to Y at 5% profit. Y sells the house back to X at 2% loss. Then, In the entire

transaction;
A) X loses M1350
B) X gains #3150
C) X loses #4350
D) X gain N4350
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You are taking the following test
Name SEPLAT JV Undergraduate Scholarahip Screening Test 2019/2020

Timer Please Wait

You have completed 22 out of 30 questions

23) A shepherd had 17 sheep. All but nine died. How many was he left with?

A) 6
B) 8
O @ 9
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B
are taking the following test
e SEPLAT JV Undergraduate Scholarship Screening Test 2019/2020

B
¥ |Please walt

nave completed 20 out of 30 questions
structions

or
the Submit —> Forward button 10 save your answes and move 1o the next question

An engineer designed a ball so that when it was dropped, it rose with each bounce exactly one-half as high as it had
fallen. The engineer dropped the ball from a 16 meter platform and caught it after it had traveled 46.5 meters . How
many times did the ball bounce?

Al 5
8) e O
C) 7
D) 8

m
o
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are taking the followmng test
w SEPLAT JV Undergraduate Scholarship Screening Test 2019/2020
er Please Wait

have completed 21 out of 30 questions

tion

the Submit -> Forward button to save your answer and move 1o the next question

) Chancy, an English bulldog, received 1,618 votes in the Mr. Bulldog competition, giving him approximately 20 percent
of the vote. Approximately what percent of the remaining votes would he have needed to receive in order to win 30

percent of the total votes?
A @ 10%
B) 125
C) 17.5%
D) 15%

E) 20%
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re taking the following test

| SEPLAT JV Undergraduate Scholarship Screening Test 2019/2020

Please Want

ave completed 6 out of 30 questions

¥ Submit -> Forward button 1

save your answer and move 1o the next guastion

A company which employs 500 people is required by law to a certain type of insurance. What type of insurance must it

have
A) ° Private medical Insurance
B) Employers’ liabilities insurance
C) Employees’ lisbilities insurance

D) Life insurance for all employeas
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SEPLAT JV Undergraduate Scholarship Screening Test 2019/2020
Please Wait

sS

ve completed 3 out of 30 questions
uctions

on

= Submit -> Forward button to save your answer and move to the next question

Six months or so after getting a video recorder, many early buyers apparently lost interest in obtaining
on it. The trade of businesses selling and renting videos is still buoyant, recorders is still growing. But
market for video recorders is saturated, businesses distributing videos face hard times. Which of the ft
would most seriously weaken the conclusion above?

A) The market for video recorders would not be considered saturated until there was one in
80 percent of homes

B) Among the items handled by video distributors are many films specifically produced as
video features

C) Few of the early buyers of video recorders raised any complaints about performance
aspects of the new product.

D) @ The early buyers of a novel product are always people who are quick to acquire novelties,
but also often as quick to tire of them
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Test

You are taking the faflowing test

Name SEPLAT JV Un

duste Scholsrship Screening Test 2019/2020

ds) : 35

he Submit -> Forward bution 10 Save your answer and move 10 the next question

6) Neha a clerical assistant, (s called into the managers office to be warned about her time keeping. Which of the
following issues ks the manager dealing with

&) Tralning
B) Gnevance
C Discpline
0 Aovising

Stop and Restart/Resume Later
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You e tang thw followng tess

Kame SEMLAT W Undorgradusts Scholarsvp Screeming Test 20
Timer  Time Remaining (minutes seconds) . 239

You have completed 29 cut of 20 questions

Use the Sctaut - » Forward busson to save your answer snd move 1o {he nest queston

e

30 A person invested in all N2600 ot 4%, 6% and 8% siniple interest per srurim. At the end of the year, e got the samn
nterwst i ol the thewe cases. The meney Fvestsd at 45 is

20
y e
N

o Ml

Stop and RestortReoume Loter
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You are taking the follcwing test
Name SEPLAT JV Undergraduate Scholarship Screening Test 2019/2020

Timer Flease Walt

You have completed 18 out of 30 questions

Usa the Sutiemit -> Forward button 1o Save your snawss and move to the next guestion

19) The problem |s who will this child
A) bring in
B) bring out
C) ¢ brngup

4] bring forth
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20)  Thebuibfingeas
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You are taking the following test
Name SEPLAT JV Undergraduate Scholarship Screening Test 2019/2020
Timer Please Walt

Progress

You have completad 17 out of 20 questions

Instructions

Question

Use the Submit -> Forward button to save your answer and move 1o the next question

18) A judge should _ equal justice to all
A) deal with
B) deal by

c) o dealout
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SEPLAT JV Undergraduate Scholarship Screening Test 2019/2020

Please Wait

ve completed 23 out of 30 questions
uctions

on

= Submit -> Forward button to save your answer and move to the next question

A sum of money at simple Interest amounts to 8815 In 3 years and to N854 In 4 years. The sum is:

A) §500
B) N690
C) o 698

D) N700
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You are teking the following test
Name SEPLAT JV Undergraduate Scholarship Screening Teat 201572020
Timer Floase Walt

You have compieted 9 out of 30 Questions

Juestion

Use the Submit -> Forward Butlon 10 save your answer and move 10 the neat guestion

10) Current employment law requires that an employer, within a specified period, issues a new recruit with
Al A company rulzbook
B e A health ana safety policy

erms and condifions of works
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! SEPLAT JV Undergraduate Scholarship Screening Test 2019/2020
Time Remaining (minutes:seconds) : 33:33

eas
ave completed 7 out of 30 questions

tructions

don
e Submit -> Forward button to save your answer and move to the next question

alculator

Which of the following would the board of directors be most concerned with

A) @ Day-to-day- function of the company

B) Grievance currently outstanding
C) Strategic planning
D) Production targets for the next two months

Stop and Restart/Resume ||
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ress

have compieted 4 out of 30 questions

ston

the Submit -> Forward button to save your answer and move to the next question

Blood banks will shortly start to screen all donors for NANB hepatitis. Although the new screening tests are estimated
to disqualify up to 5 percent of all prospective blood donors, they will still miss Two-thirds of donors carrying NANB
hepatitis. Therefore, about 10 percent of actual donors will still supply NANB-contaminated blood. The argument
above depends on which of the following assumptions?

A) o Donors carrying NANB hepatltls do not, In a large percentage of cases, carry other
infections for which refiable screening tests are routinely performed

B) Donors carrying NANB hepatitis do nct, in a large percentage of cases, develop the
disease themselves at any point

C) The estimate of the number of donors who would be disquallfied by tests for NANB
hepatitis is an underestimate

D) The Incidence of NANB hepatitis is lower among the potential blood donors that it iz in
the population at large
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Test

ou are taking the following test
lame SEPLAT JV Undergraduate Scholarship Screening Test 2019/2020
imer | Please Walt

roqross

ou have completed 24 out of 30 quastions

se the Submit -> Forward button to save your answear and move to the next question

25) A and B together can do a piece of work in 30 days. A having worked for 16 days, B finishes the remaining work alone
in 44days. In how many days shall B finish the whole work alone?

A) 30 days
B) 40 days
c) o 00days

D) 70 days
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Name NPDC/SEPLAT Undergraduate Scholarship Screening Test 2018/2019

Timer  [Time Bemaining (minutes seconds)

2 out of 30 questions

ave completed

» Forward button to s

your answer and mave to the next question

23) Two cars P and Q start at the same time from A and B which are 120km apart. If the two cars travel in opposite
directions, they meat after one hour and if they travel in same direction (from A towards B), then P mests Q after
hours. What is the speed of car P?

A) 60kmiph

B) 70kmph

C) 120kmph

D) » Datainadequa
E) None of these

Stop and Restart/Resume Later
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jest
You are taking the following tast
Hame NPODC/SEFLAL Undergraduate Scholarship Screening lest2018/2019

Timer  [Time ﬁemaiﬁi@i&in:ﬁcs:se«:onds}. 29:04 |

Brogress - —
You hava complatad 17 out of 30 quastiors

Instructions

Question
Use the Submit -= Forward button to save your answer and move io the next quesion.

Calculator

18) The building was
Al () oulledup
B} () pulledthrough
C) [s] nulleddown

D) ¢ oulledtogethar

Submit —> Forward
Stop and RestartiResume | ater
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Test - NPDC/SEPLAT Undergraduate Scholarship Screening Test 2018/2019

1est
“You are faking the following test:

Name NFDC/SEPLAT Underg aduale Schelarship Saeening Tasl 20182019

Progress
You have competed 18 out of 30 questicns.

Instructions

Queston
Use the Subm't > Torward buiton to save your answer and move ‘o the next question.

19) There is pleasure in ______ a debtor which nonc but a creditor can know
A dolngwih
B) () decingup
C) o daingfor
o deing away wiln

Submit > MNorward
Stop and RestartiResume Later
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Test
You ars taking the following test:

Name NPDC/SEPLAT Undergraduate Scholarship Screening Test 20182019

Timer  |Time Remaining (minutes:saconds): 25:13

Progress
You have complatad 20 out 0f 30 quastions

Instruchons

Question
Uisa the Submit —> Fenward huficn to save your answer and mova la the ned cuastion

21) To produce an annual income of 1200 from a 12% stock at 90, the amount of stock needed is:
A) @] =10000

E) ) %10800
C) o =14400
D) o %16.000

Submit —> Forward
Stop and Restart/Resume | ater
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fest
Yeu are taking hz following test

Name NPDC/SEPLAT Undergraduate Scholarship Screaning Tast 20182019
Timer  Tima Remaining (minutes:seconds) : 27:46

Progress - -
Yeu: have completed 18 out of 30 questions

Instructions

Questan
Use tha Submit—= Forward button to save you' answer and move to the rext question.

Calculator

20) The company intends to many books this year
A) » bongin
B) (s} bringout
c) ,  hring up

D) . biingforth

Forwal

Stop and Hestart/Resume | ater
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‘T?Sl“ et ———
You are taking tha followng test:

Name NPC C/SEPLAT Undergraduate Scholarship Screening Test 20182019

Timer  Time Remaining (minutes:seconds) - 23:18

Progress
You have complated 22 out of 30 questions

Instructions

Question
Usz the Submif —= Forwarc bufton to save your answer and move 12 the next question.

Calculator

23) At the end of a business conferance the ten pzople present all shake hands with 2ach other once. How many
handshakes will there be altogether?

A @ 20
By @ 45
C) @ 655
Dy ¢ 90

Submit - Forward
Stop and Restart/Resume Later
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lest- by
You ara taking the following w237

Name NFPDC/3EPLAT Undergraduate Schalarship Screening Test 2018/2019

Tmer  [Time Remaining (minutes:secondsi - 21:46

Brogress, 2
Yol hava completed 23 out of 30 gu2stons

Inslructions

Question
Use the Submit —> Fenvard bution ta save your answer and move fo the naxt guestion.

24) The time it took car P to travel 600 miles was 2 hours less than the time it took car R to travel the same distance.
If car P's avarage speed was 10 miles par hour greater than that of car R, what was car R's average spead, in

miles per hour?
A o 40
B) @ 50
c @ 60
D @ 70
E} ) 80

Stop and Restart/Resume Later
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You have not answered the cuestion on this nage. Please answer the guestion defore continuing.

Test
You ere taxing the ‘ollowing est

Name NPDCISEPLAT Uncergracuate Scholarship Screening Test 20138/2019
Timer iTi’m: Femaining iminutes:zeconds) - 16:47

Progress ) o §
‘You have completed 24 cul of 30 questions.

Instructions

Question
Use the Submit — Forwsrd buttan 1o save your answer and mova lo the next cuestion

Calculator

25) David got two and a half times as many marks in English as in History. If his total marks in the two subjects is
140, the marks obtamed by him in English is:

Al @ 4w
B @ 1%
cr @ 90
DI @ 100

Stop and Restart/Resume Later
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Test
You are tzkirg e following test

Name NPDC/SEPLAT Undergraduata Scholarchip Scr2aning Test 20182019
Timer |Tima Remaining (minutes:seconds) : 14 58

Progress i
You have comp eted 25 out of 30 quastions

nstructions

Question
Use ha Submit—> Forward button 1¢ Sava your answer anid move to ha next question

26) In a case, 30% of the students offered English, 20% offered French and 10% offered both. If a student is selected
at random, what is the probability

A o2
B @ %
) @ 35
£) g 30

Stop and Restan/Resume [ater
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Test
You are taking the fo'low rg test

Name NPDC/SEPLAT Uncergraduats Scholarship Scrazning Test 201322015
nmer  [Time Remaining (minutes:seconds} 12 30 |

Progress
You have completed 26 out of 20 questions

Instruchions

Question
s the Submit == Fanwarc button fo save your answer snd move to the next question

7) A man wears SOcks of two colours - black and brown, He nas aitogether 20 black s0cks and 20 brown SOCKs ma
driswer. Supposing he has to take ool 1he socks in the dark, how many musl be lake oul lobe s thal he has 2

matching pair?
Al @ 3
B o 20
C) y 39
D) @ 25

Submit —> Forward
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Test = -
You are 1aking tha folowing tes™

Name NPDC/SEPLAT Undergraduate Scholarship Scresning Test2018/2019
Timer  |Time Remaining (minutes:seconds) - 11:45

Progress
‘fou have completed 27 out of 30 questions.

Instructions

Question
Us2 tha Submit —> Forwarc buton o save your answer and move to the next questicn.

28) Two hundred multinles of seven are chosen at random, and 300 muttiples of eight are chosen at random.
Approximately what percentage of the 500 selected numbers are odd?

Ao 2%
Mmoo =%
C o 4%
D) 50%
B O 8%

Submil => Forward
Stop and Restart/Resume Later
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lest- by
You ara taking the following w237

Name NFPDC/3EPLAT Undergraduate Schalarship Screening Test 2018/2019

Tmer  [Time Remaining (minutes:secondsi  10:23

Brogress, 2
Yol hava completed 25 out of 30 gu2stons

Inslructions

Question
Use the Submit —> Fenvard bution ta save your answer and move fo the naxt guestion.

29) If a 4mm thick paper is folded so that the arca is haived at evary fold, then what would be the thickness of the pile

after 50 folds?
A} () 10CKm
B) (¢ 100Ckm
Gl ¢y 10000KM
D) ¢ 1 million km

Submit -> Forward
Stop and Kestart/Resume |ater
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Jest
You are taking the following tast

Name NPDC/SEPLAT Undergraduate Scho'arsnip Screening Test 2018/2019

Progress
You have completed 29 outof 30 questons

Instructions

Question
Usa the Submit == Forward hutton 1o save your answer and move to the naxt question

Calculator

30) The size of a flat-screen television is given as the length of the screen’s diagonal. How many square Inches
greater is the screen of a square 34- inch flat.screen television than a square 27-inch flat screen television.

A o 10875
P o 215
Q) @ 427
Dy o 728
E) @ 115

Save and Finish

Stop and Restart/Resume Later




